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01) a)

b)

All Sections are compulsory
Section - A

Read the following passage and answer the questions that follow. Q)

Soapy was unsuccessful at getting himself arrested. As a homeless, jobless drif-

ter, he wondered how he would survive the harsh winter. He knew he would get

food and shelter in jail, if only he could manage to get caught while committing

a petty crime.

Suddenly he noticed a well-dressed man lighting a cigar at a cigar store. His silk

umbrella had been set by the door on entering. Soapy stepped inside the store,

took the umbrella and sauntered off with it slowly. The man asked for his

umbrella but Soapy asked him to call a cop-who was standing at the corner.

1)  What had Soapy been unsuccessful at?

i)  Why did Soapy want to get arrested?

iii) What was the well-dressed man doing?

iv)  Where did the man put the umbrella?

v)  Soapy drew the attention of the umbrella owner to a police man because
1) he wanted to run away.
2)  he wanted to keep the umbrella.
3) he wanted to get arrested.

Read the passage and answer the questions. Q)

Knowledge has always been the prime mover of prosperity and power. The

acquisition of knowledge has therefore been the thrust area throughout the



world. Additionally in India, there has been a culture of sharing it, not only

through the

tradition of guru- shishya but also by its spread to neighbouring countries
through travellers who came to Nalanda and other universities drawn by their
reputation as centres of learning. India is endowed with many advantages and
competencies but these are scattered in isolated pockets and the awareness of

these is inadequate.

i)  From which lesson is this passage taken?
ii)  Who is the author of this?

iiil)  What is the main mover of prosperity?
iv) How is knowledge shared in India?

v)  What is the problem with India’s advantages and competencies?

02) Answer any Two of the following in not more than 100 words each. 2x4=38)
a)  Why did Gandhi feel that he had to simplify his life?

b) How does ‘Man’s Peril’ bring out Russell’s thinking about nuclear weapons?
c)  What are the good qualities of writing according to L.A. Hill?
d)  Bring out the central theme of ‘The Drunkard’.

03) Answer any One of the following in about 200 words. @)
a) How according to Kalam can a knowledge society be built?
b) Comment on Orwel’s ‘Shooting an elephant’.

c)  What are the main ideas expressed in ‘Pecuniary Independence’.

Section - B

04) a) Answer any ONE in not more than 100 words.

i)  Bring out the theme of love in ‘The Last Ride Together’.
ii)  Discuss Shelley’s ideas as expressed in ‘Ode to the West Wind’.



05)

06)

7)

iii) Justify the title ‘Mending Wall’.

b) Explain any ONE of the following:

O]
i)  He is all pine and I am apple orchard.
ii)  This is my son, mine own Telemachns.

iiil) We slowly drove — He knew no haste.

Answer any One of the following in about 200 words. (6)
a)  Discuss the theme of relationship in ‘Mending Wall’.

b) Bring out Keats’ love for nature.

c) Justify the title ‘The Last Ride Together’.

Section — C

Answer any One of the following in about 200 words. (6)
a)  Discuss ‘The Lottery Ticket’ as a study of human psychology?
b) Consider ‘Subha’ as a dramatization of the basic need for love and friendship.

c) Comment on the central theme of ‘Ha’penny’.

Section - D

Read the following passage and summarize it. Q)

Freedom has given us a new status and new opportunities. But it also implies that we
should discard selfishness, laziness and narrowness of outlook. Our freedom suggests
toil and creation of new values. We should so discipline ourselves as to be able to
discharge our new responsibilities. We should put into action our full capacity. Work
unceasing work should be our watch-word. Work is wealth and service is happiness.
The greatest crime in India today is idleness. Each one should work honestly, this is
the fundamental law of progress. Next to honest work is the habit of respecting other

people’s feelings. The law of love is a practical code of life.



08) Write an essay on one of the following: Q)

a) My ambition.
b) Women empowerment.
c) Education.
09) Answer any one of the following: Q)
a)  Write a report on ‘The Republic Day’ programme in your college.
b)  Write a report on a musical concert held in your city.
Q10) Use four of these idioms and phrases in sentences of your own. 5
a) lookup to
b) bed of roses
c) crocodile tears
d) hand in glove
e) hand to mouth
f)  atarm’s length
g) close-fisted
h)  ina nutshell
Q11) Answer any ONE of the following: Q)
a)  Write a dialogue between two friends on the problem of unemployment.
b)  Write a letter to your friend congratulating him for topping his college.
c)  Write a letter to the commissioner about the problem of bad roads.
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Q1) 8o& 5068 28 H08 DHS DY WO FODOE. (8)
a) DY FOG BIVE DY DB B8 S9H00
BYB Do B 5085 $oBgIE50e080S PRB DS
DY DEFNTBD DS, SHEODH &0 HIPTO

E0Q50(EY Wo SBABIOEIED 330e0 &)ra?xﬁoageg ?

b) e H558:5 3PS50 CHYD (e S8 DGR O
TBIBD DYBO e5°e5sS 80308565 000 DW(TeS
BB (2 300 B B DRS( F(7e8, o

SOBED FYO SHR E0FV,( BOODH(HS B DS ?

02) 8o® o0& H 350 o0& BoGOE3S HOLY HES Q)0 T2ADOG. 4x2=298)

€9-230¢50

a) WD SDHEoY 2ODS Bob.

b) Besos $5657 Bose5d $5.OS.

C)  3R3E DOBRS ey TREISS.

d) ©e850e55500( H53e0,00B0( e38A30S8!



€3-230050

a)  &BEBBoTe BHOWRD D!

b) T CES BeES LS.

C)  DSBaITG DG aazs%ééaimg.
d) SBEB0E3D0 DD 28 BD.

03) 8o& 0% HA 3750 BI0D) BN DEBTIGSO TpOHO. 2x7=14)
€9-230¢50

a) DB SO Do EOEIBRD DBBODD SN DSOOTIB.
b) 8% ¢§ERans DR ABD HSOOWOR.

€3-830050

a) BN PAS WOBLETR DSO0TO.
b) &8 5= HAPS dSOOTOS.

04) 8o& 0% HA 3750 208 28008 DH&TERSO TTOHO. 2x6=12)
€9-230¢50

a)  &008)3RRPRIBIE0 DEHTHOS BSOS TLd SRS MITITO HBOOBOR.
b)  oeoHe S0 T3 ()5, WS, OFDS, EPTAEHLOD KIVOD TeoHOE.

€3-830050

a) VSR SE,B0SD Foesinen KsaRS50 DBEO0OH.
b) 080 OB B3SO 15708 o HOG.

05) 8o& 3o06° Fo&oe38 HEBTGRTED TPOHOG. 2x6=12)
a)  Boo.

b) DHORFBI00D.



©)
d)

ooy,

A

a0

&5s.

06) 8o& 5008 25D (5708 D20 TPAHO.

a)
b)
©)

07) a)

b)

DD BRI DG Hogs.
DAL DO LBSIS® gD NS,
DBHE8B .

i)

if)

i)

if)

808 DS PO 580 HERDS TR, WOBIB (HYOD ADHED DE2TF0G.

S G056 FDFNT BT HPRODHOBOD HOYB,BI0

(82)
808 TP 2867008 DECETSEIOT OFETPY BYOk.
1) sosso.
2) Be8a.

§o® 6’36560@5“ OO0 B9 0500 39 DENDE, 000508,

O OO 30 ¢ ADOSTROGSA0DS

(8w2)
808 900520 28 DS VETIETGEI0T ©FE0 BYOL.
1) doeso.
2) Rga705%8.
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01) gal%swer.any two questions: [2%x10=20]

02)

03)

a)

b)

©)

d)

b)

: I for@a |

Write the brief story of Nagananda.

AT, FHT T foraa |

Explain the dramatic skill of Bhasa with illustrations
TS TR G FEwd |

Sketch the character of Baladeva.

AT I HEd |

Write the story of “Sri Krishnasya Mytri
“sfiepeorer T 3fq aTeeWT W forEd |

How did viswamitra become Brahmarshi? [1x10=10]
Tt %Y s Sy ?
LRI

Write an essay introducing “Acharya Sri Ramachandradi”

A= St THegeha: TR Herames foad |

Explain any two of the following with refer to context. [2%x3=26]
FeaT FE=GH T |

a) gy gf & et wafxr |

b) FERTHIRTA TE: |

¢) T CEHUTRA gy |

d) ¥ g3 % 9 Tg: |

e) T U@ N |

f) fomhmes T & foihe=-EH |



04)

05)

06)

7)

g) &% Frwim wfeT |
h) %W:ﬁﬁﬂﬁ“ﬂ: |

Write short notes on any two of the following
A F@?ﬂiﬁl forea |

a) arfa: |

b) eI

¢) WTEE:

d) EDLCH

Define and illustrate any two alankaras
Q?ﬁ: A T: Hgﬂuﬁ?ﬁ'{‘ﬁ forEa |

a) &I

b) 3@'@:

¢) T,

d) 39T

Write the forms of any four of the following sabdas.

quit ffdsefawfey wamfor foaea |
a) H&A (1)

b) fergg (feehm)

¢) g - Bt (gefram)

d) TRM - (Fw)

e) TSH - (Js=Hl)

f) 31 - (YMT)

g) e - (fgetam)

h) WTed - (ST

[P.T.O.]
[2x4=8]

[2%x3=6]

[4x2=8]

Write the forms of any four of the following adding the given termination’s [4 x I = 4]

FqUI TACTIH AT fored |
a) ¥ (ed)

b) T ()

¢) it (FF=q)

d) 31 (39)



08)

e) I (M)
f) 93 (I91)
g) & (=)
h) ™ (T9)

Translate any four sentences in to Telugu or English.

Tqut AR foEd |
a) GLd: TEdl: T |

b) JT TS q&AT IST |

¢) HFG ST

d) TgHd S |

e) WHG SEMH T i |
f) e snva o= |

g) Gl W&t dera:

h) heeihel AYL TFEq |

SISIS)

[4x2=8]
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SECTION - A

01) Tmafafaa wems =1 awE s Hifs | (18)
a) i) Teh WUET Ueh A, Teh 379 foeam |
i afctd WY 4, FTaeh garsie™ ||
37T
iii) «Tfgw oRg &9 I, &g A o S|
&l M AT g3, hal L aEm |17
b) i) hepeft 319 ofltm | wadl B Tk A
HER I a1 2 foh T Wl & q¢
B Thd B, T HIAT SHUTAT &l B Tehell ||
YT

i) 9 J T g W T E,
3R QT GI-gfee 9 i 3 T@/ |
@ ¥ 9@ e I I,
graT-ur fagmar | @@ uTd |

¢ i) I EH, o WA favd @ik § et TR et |
SH-qU-US g 9 T, gt Tgid &1 33) 372 |
AYET
i) IT-Jadeh, IT-EEATIH,
J-FATETh, g JER |
W—ﬁﬁm,@—qﬁﬁ’
- b T hT TIEHT |



02)

03)

04)

05)

06)

forelt weh i =1 T forfaw | (10)
a) Tegs |

b) offs T IR-IEAT & I |

¢) et T YTETAT |

foreh) weh fa 1 uf=y €S | (10)
i) T |
j) Tyt g feent |

k) SR 991G |

foreft T fowr W fay faReaw | (10)
e) TEIHRIH |

f) <M |

g) TRITSRUT- gy |

h) S&-9T |

i) gl |

foreht T Tifeed fowa w freag faReaw | (10)
a) TTfeeprar uitfeurfea ® yepmer erfere |

b) FT 9tk 3R G St 1 qi= ST |

¢) THHRE 9N 3R qoeie™ 1 qi=d G |

d) TTeh I fashmE R SRR J9Tg 1 ufEy e |

Freferiga e w1 femdt 9 srgaTg HifT | 12)
On the bank of river Penna, there was a village called Perur. In Perur, there lived a
poor Brahmin. His wife was on Orthodox. They did not have any children. They
lived in a small hut. There was a lime tree behind the hut. It bore many fruits. The
couple sold and lived on the income. The tree was to them dear as a son.

SISIS)
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SECTION — A (2 x13=26)
Answer any two questions

Q1) Explain briefly about the Babylonians.
25029 QOIS 0o 0O HHBOOTO.

02) Explain briefly about invention of wheel and its role in industrialization.
BB 3008, BDEBEEB0 SIO0KN MO F2LOBGEI0S? 30 G308, HFPBID HBOOWOs.

03) Describe briefly about effect of modern agriculture on environment.
BEODE $355PODO SHOD HOHSEIOD gIPHTND DB5D0S508.

04) What do you understand by “Bio-War”’? Explain with suitable examples.
“B55-00EH0” OBTPRBR? B3 SresRSH8d S5O0TOk.

SECTION — B B x4=12)
Answer any three questions

05) a) Paleolithic age.
DOA3FPODE OHSS0.

b) X-rays.
DESeo.

¢) DDT.



06)

7)

d)

b)

d)

Go8e3.

Radio.
3&33.

Biogas.
BS5530008D).

Gunpowder.
55D06.

SECTION - C

Answer all questions

Who invented Calender?

B0oH5 DS BB ?

ICBM means
DVIDE WO&T
Who invented steam engine

[FA1) od)oga(g DS ééoc‘i’éagd)

What is the another name for Vitamin ‘C’?

DERS ‘D’ 8 FHOAINE DL DO ?

Choose the correct word.
é&)uo_BJaS D200 (i)gofjoé.

a)

Radio invented by

i)  Grahembell

ii) Marconi

iii) Flemming

iv) Darwin

BBAI BH0E2F DS

)  $500BS

Bx4=12)



i) @06

V) o9&

b)  Which of the following is pesticide
i)  Methane
ii)  Phosphorous
iii) Detergent

iv) DDT
808 TS® DO BHODOSTOES.
) &3S
) Koo
i) &eoes
2
v) &&e

c) Typhoid is caused by
i)  Female mosquito
ii)  Plasmodium species
iii) Bacteria
iv)  Salmonella Typhi
BPo0E BSOS HcHIB
)  ess8s0
i) Fp,Gono dHen
iii) engoote
V)  rer,3ep 82

08) Match the following:

a) Vitamin B Egg

b) Methaemoglobinaemia Vit-C

c) Scurvey Berry Berry
d) Silver Revolution Nitrates

a) DS D fgsles

b)  &0ERRETDIHODH eS-C
C) D8 B8535

d) Rexd dPsED 38
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SECTION - A (4 x10=40)
Answer any four of the following
Each question carries 10 marks

Q1) Define Environment and give an account on the structure of atmosphere.

DO0BTBEFR) DT EDOD, B0WHBE0 AIVE, DT80 BODOL.

02) What are the uses of forest resources and give an account on the consequences of de-
forestation.

@ SISO ad3os, BDO3THISDBN SOOI B DDRFIS HOD B NDOEFPHRTOSD
BOD0SL.

03) Explain in detail about the available water resources and their management practices.

050270620658 DF DD 20 SSVV OO ToE3 DTET0e (5708 DSO0O.

04) Write the values of the biodiversity.

e§a§§&c§6 DOVSOD 578 TPODO.

05) Explain the role of bio-geo chemical cycles in maintaining the equilibrium of eco-
System.

[E%vTel) 65665?\;9 écﬁ)@??’g@@g 0oL, B&5-8De-8aNS  SOOTTO cﬁ)oée, @aéaﬁo
DS5O0T508%.

06) Enumerate sources, effects and control measures of air pollution.



3P0 See0F)g, SPTSLV, HFRTORD SOATD DODOBE HLBIOIDD 5708 B0D0bk.

07) How can we manage solid waste?

POD&G DERCO DD DTB7e0T5I00 ?

08) Explain the following:

a) Urbanization.
b) Global climate change.

§o&) 30830 DS5O0508:

a) HEBESEDESL.
b) Do wewestes HIGY.

SECTION - B (3 x20=060)
Answer any three of the following

09) Write about the aims, objectives and scope of the environmental studies.

DB WEI;ODSO O30T, VT &0, BTV SHOOTV BHTFIVO BODOE.

Q10) Describe uses of mineral resources and impact of mining on the environment.

PR SO AOVE; VVITIROT SO0 BV BIHBO  HOD 6’30365569303.3 (919}
RS0 DBOOTTO.

Q11) Explain in detail about conservation of bio-diversity with suitable examples.

BBBOES DOTEET HEPRTOD DB GrIsRSOS® DSOSk

Q12) Write the structure and functions of an ecosystem.

B35S D30 AT, OEOVD SOOI DTR,EISNID 5308 FoODOL.



Q13) What are the various characteristics of population? Explain.

BT AR0E, OFEID DO ? DISO0TO.

Q14) Explain the following:

§o@ 0830 DHO00L:

a) Acid rains.
8539 éo?qe)o.
b) Ozonelayer depletion.

&6 Dot §35.

c) Disaster management.
DB HOYPBOO DY8500.

d) Indoor pollution.
5)830 S0083;0.



(DBC21)

Total No. of Questions : 18] [Total No. of Pages : 2
B.Com. DEGREE EXAMINATION, MAY -2017
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SECTION - A
Answer any Four of the following 4x3=12)

Q1) Mixed banking
oS e39,0808

02) Credit cards

DEHH sadgen

03) Money lenders
5 o esHge0

04) Merchant Banking
Bogoes e 0808

05) Dormant Accounts
Q3O growseen

06) Features of pass book
POV OZEpS00

Q7) Assignment

VS S00e5
08) SEBI
I
SECTION - B
Answer any Two of the following 2x8=16)

09) What is Branch Banking? Explain its merits.
Togre 23,0808 BT DOV? WD HEHHND HBOOTIOHW.



Q10) Trace out the origin of regional rural banks. Also state its functions.
@aoéo:b Q%a')oea aJaéoE‘o@ ‘@éogééo SN S0OOSD TR DEOOKD BIewwe S05HD.

Q11) What is money market? Also explain the structure of Indian money market.
&5 508,65 0500 D0 ? HOOCKD B (5855 HTTyET W CIPDHNE) HBOOTBD.

012) Explain the essential features of endorsement and crossing.
DOTEB00E5 HIOOKD FOE® BHE;E OFEHDD HHOOTIIBD.

SECTION - C

Answer any three questions (3 x14=42)

Q13) Define commercial bank? Explain different functions of modern commercial banks.

Also state their role in Economy.
By 23R,0EE0 DT, DODBW. BEHDE Tdey 219,080 DEHOT HBOOTHHBL. Hodan

QL HHLS? 063 I ERwe BOYHBD.

Q14) What is the essence of cooperative banking institutions. Also state their functions,

problems and activities.
D5PBRS 2R 0808 DOPO WEHL DT HoOOTD TE DEVOL WV SoOOD

saqssaax)éaoe)éo Bt e05)BW.

Q15) Describe money market and capital market. Also state their differences and
similarities.
&g, BoTROEGD H5703,850 DBOOTHBW. HoOOATD D083 Sl el) Bwoen, DedZen Hrnwo

Be03YB0.

Q16) Define banker and customer. Also state their general relationship.
?.33_60563 S0OCHD  YPOBTODO DT DODBL. HBoOOKD maéocséde) Clartelx)

D005 EJotse S5)H0.

Q17) What are the principles of sound ledning? Also state the general principles guiding
banker’s lending policies?
00D DDBDGRD DI2EB50L0 DD? oo 230,088 200 NHRDS DTFET,E Dereses

mééaaéo Boots0 Se0HAD.

Q18) Write an elaborate note on nationalisation and achievements after bank

nationalisation.
PE0H B SO BADH BG SHTSE 2R0H0 FPODD HBADBO E) 00Y

mé‘ééaoaﬁo Qacci)aéao.

*000¢
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(Examination at the end of Second Year)
Second Year (Part — II)

Financial Accounting - 11

Time : 3 Hours Maximum Marks : 70

)
02
03)
04)
05)
06)

7)

08)

SECTION - A
Answer any five of the following

Features of Hire Purchase Systems.
83 525065%e0 DB ogesoen

Differences between statement of affairs & Balance sheet.
asﬁasmow DIDE 500050 @?_‘2 @K)‘Se) K)egéa 553615 ééa'%&éao.

P & L Appropriation a/c
ORISR DOA3RAS oo

Classification of Branches
\a/noé)a H5HB8Ge

Capital Reserve, Reserve Capital
SB0TOESD DBy, DB BTPDEHHD

Types of shares
TotROS8 Sseen

Forfeiture of shares
ToLIOO a’,@

Methods of valuation of good will
OEDS Dens B HE5Boen



SECTION -B
Answer any two of the following
09) Mr. Sanjeev maintains books on single entry, who gives you the following

Information.
31.3.2015 31.3.2016
S S

Bank balance 600 1000
Cash in hand 100 150
Stock of goods 5000 6000
Sundry debtors 6000 4000
Furniture 2000 2000
Building 10,000 10000
Sundry creditors 3500 4000

Sanjeev Introduced a fresh capital S 5000 on the 1% of July, 2015, and had withdrawn

S 2500, during the year, Interest on capital is to be allowed at 10% per annum. Write
off depreciation on building at 5% and on furniture at 10%. A provision of 5% on
debtors is required.

You are requested to find out Mr. Sanjeev’s profit or loss for the year ending

31.3.2016.
808 D5 2,063 HEY B0 &0 DB oYPS D0BS5K BoODDSD.
31.3.2015 31.3.2016
o) [enp)
2RO DOy 600 1000
BBSP Seseso 100 150
DEE DOze0 5000 6000
200085 FrQen 6000 4000
96 2000 2000
gFSTee0 10,000 10000
DD 2DEBTTBD 3500 4000

H0BS OESHLY BoPOGHOTR K 5000 1 &S 2015 & BVK HFK0, BB HOBFEHVS? K
2500 RPOBDB TEE BB, VOBZTDE LRGSO D H& 10% RERd. FHToO D 5%
HYSE D 10% BE,BeRd. a0HBFRO D Toderde DY 5% DT Wad.
31.3.2016 &% @OSHOAN; HOBZTDE oYHE. HOBES BN, PERSTPOTL BK,BQ0E.

Q10) Sharmista purchased a car from Alyekya at the cost S 1,50,000 on hire purchase system.

Payment was to be made S 30,000 down and remainder in 3 equal Annual instalments

together with interest at 5% p.a. sharmista provides depreciation at 20% p.a. on
diminishing balance basis. Sharmista paid first instalment at the end of first year but

could not pay the next. Alykya took possession of the car. He spends S 5,800 on the car
and sold it for S 80,000



Show necessary ledger a/c’s in the books of Sharmista.
00,8 28 SO &P 1,50,000 G55 BOBHD 0By S0 ©F §256%0 HEB B S0

BRBO. B8, 30 E°. 30,000 BYOD BHD VBB 3 DBTVD T2ONVTOS® HG LY
BYOTH HéY P00 BDODHD. éé K)oégm(‘\)é 5% 028 20% 00|88 S50 S)oge)o
TRYD. BeSe3 5200w BYODD BBOBC0, HBOD TN BYOIE DD, OB
B BOB MDD HEWED P 5800 P WR LD G 80,000 SER,IBRIBD. KQ,H)
DS OBHEBD e SaREH BaAHosd.

Q11) A, B, C entered into partnership on 1% April 2015 to share profits and losses in the ratio
of 5:3:2. ‘A’ guaranteed that ‘C’ s share of profits, after charging Interest on capital

@ 5% p.a. Would not be less than S 15000 in a year
The capitals wear A — S 16,000; B — S 100000 C — S 80,000. The profits for the year

ended 31 March 2016 amounted to S 79,500 before providing for Interest on capital.

Show the profit and loss Appropriation Account.

AB, C 142015 & epgroso 5 : 3 @ 2 0586° H008°8 Q0608 grsde, 55067
838000. C B8, ergre HupoESo D Ko||8 5% $5& B8, 580 Sthand HOHZTRD K
15,000 ©&) $50,5 $0ES5D A 580 KF0

00 HoTeeSIeen HEHdTe A &3 16,000 B 8% 1,00,000 C 83 80,000 S05). 31.3.2016
&% wosBOA); HOBFTDB engRen BB 79,500 POFSSO B G BEBLE PGB0

BYODDY. eRERBERO HOINRAS gy SATPED WADOS.

012) Give the Journal entries in each of the following alternative cases assuming the face
value of debenture being S 100.
a) A 10% Debenture issued at S 100, repayable at S 100
b) A 10% Debentures issued at S 100, repayable at S 105
c) A 10% Debentures issued at S 105, repayable at S 110
88300y S0PDOS S3° 100 T3 §RHOD oD 58 0D DR Heyen gaccfooé.
a)  &® 100 & 10% &BOWE 208 W), BOB &R 100 BYOWISHE
b) 62100 % 10% &BoW RS W, BOB B 105 BYOTOBY &
C) 67105 10% &BOWE @S B, BOB B 110 BYOTBYE
SECTION - C
Answer any three of the following

Q13)Following statement is submitted to you by the secretary of the Agricultural society.
Receipts and Payments a/c for the year ended 31.3.2016

Dr. Receipts S Payments S Cr.
To Balances By Secretary’s salary 11,500
cash 10,000

Bank 24,000 34,000 By Printing and Stationery 24,100
To subscriptions By Sundries 11,200



2014 - 15 :3000

2015 -16: 78,500

2016 -17: 2,500 84,000
To Entrance Money at show 57,100
To Advertisements

In catalogues 4,200

To Interest on Investments 3,500
To sale of catalogues 3,500
1,86,300

Additional Information :

By Audit fees
By Show expenses
By show Prizes

By Deposits at Bank

By Balances
cash 4,600
Bank 20,000

a) The society holds S 35,000, 10% Investments (Cost S 32,000)

b)  Subscriptions for 2015 — 16 amounted to S 12,000 have since been received in

2016 - 17
¢) S2,500 are owing to the printers.

d) S2,500 for balance of salary are due to the secretary on 31.3.2016
Prepare Income and Expenditure a/c for the year ended 31.3.2016 and the Balance

sheet as on that date.

808 DBOE ©BEYSE VRS Ho0D BELS G50 ©POWRBOB.

S0y, BYoe a/c 31.3.2016 D056 @oz0s

é‘cﬁ)‘b% Cij
To degen
5565 10,000
2305 24,000 34,000
To wSoween

2014 —-15:3000
2015 -16: 78,500

2016 -17: 2,500 84,000

To ‘a8’ écgééécﬁa)g 57,100
To B&encHods [SECII 4,200
To epade 2 5§ 3,500
To SewerntHo esn,z0e0 3,500

1,86,300

IR ODTTITH :

a)

19

ago‘@en

By 25&8 da50

By s0¢ses, Raasd
By xsoeen

By es&¢5 He»
By ‘&8’ spsgen
By ‘as’ Bawen
By erohe 5¢5 &aresty
By degen
Ffoln ) 4,600
2300 20,000

600
51,500
42,800

20,000

24,600

1,86,300

11,500

24,100
11,200

600
5,1500
42,800
20,000

24,600

1,86,300

0% 10% 3éeEoen (56 8 32,000) S 35,000 O B HE§ SGBOTOEI0LV0D.



b) 2015 - 16 HOBHETOE BoOS WOeWS? G 12,000 2016 - 17 HODFOD
WODDD BO.

C) 30§ 8 BYOTHORDBD & 2,500 B

d) 31.3.2016 ©0e38 & 2,500 DELES BB550 0TPOD GOD.

SO HOWRO growe 31.3.2016 oe38 Hooon @ S w3 B 9D, HGE S

SDoHos.

Q14) AB Ltd Invited applications for 1,00,000 equity shares of S 10 each payable as S 2 on

application S 3 on allotment and the balance on first and final call. Applications were

received for 3,00,000 shares and the shares were allotted on a prorata basis The
excess application money was to be adjusted against allottment only. ‘M’ a share
holder, who had applied for 3000 shares, failed to pay the call money and his shares

were accordingly forfeited and re — issued @ S 8 per share as fully paid pass the ne-

cessary Journal entries.

AB 9808& a9 1,00,000 8883 e &5 10 PD,D SEFRYen HOBO. By &8
& 2 e Berpono) 8% e 3 HBDS BB0 B3 Soo DHO ey &° BYOTHHEY 32O
DO, 300000 oL S OO TarTe grsée.:a DEB D o000 DED G5EIRR
Fo00,30 BeTPANONE SIoRLALTAG B0, ‘M’ @80 0wt 3000 IR SO
HOR, BeRoWOoR, 1V BPOBSOED BSD wotROH BY) DX OB SR 8 LHRYT

DYODDS aeeseente OB &0 WAV, OBVCBOD Ve HERE FeoHOR.

Q15) Vishwas Ltd issued 5000, 10% Debentures of S 100 each, at a premium of S 10 per
debenture payable as :
On application S 25; on allotment S 45 (Including Premium) on first and final

call S 40.

The debentures were fully subscribed and due money was duly received. Record the

necessary entries and show the Balance sheet.
DTEH OQOBE Totd 5000, 10% SBOWFEO Er 100 Hesd Eod, 6» 10 HHooHEH &5,

808 Do BYoD BaHEY e WRO.
&5 gy 88 & 25, BePONOLY & 45 (f./)abo:b& 8%) 300¢563 SO DSOS B B3 40.
O HEB0E SOwR ®OD BSBO WeH, ST BB §IPDO) BBDIBOD ey DO o,
SR O, DYBD0 <ITeHOG.
Q16) Divya and Bhavya are partners in a firm sharing profits in the ratio of 3 : 1. The
Balance sheet of the firm on 31.12.2016 was as follows :
Liabilities S Assets S

Creditors 1,800 Bank 1000
Work men compensation fund 1,200  Bills Receivable 2,500



General Reserve 2,100  Debtors 4000

Less Provision 500
3,500
Capital Stock 3000
Divya 6,000 Investments 5,000
Bhavya 4,900  Good will 1000
16,000 16,000

On the above date Kavya is admitted for 2/5™ the share in the profits of the firm, and
the following revaluations were made.

a) Accrued Income not appearing in the books S 100.
b) Market value of Investments is S 4,500

¢) Claim on account of Workmen compensation is estimated at S 150

d) ‘X’ an old customer, whose account was Written off as bed, has promised to pay
S 350 in settlement of his fall debt.

e) Kavya is required to bring S 8,000 as capital and S 2000 as good will. His share of

good will was calculated at S 2,400

You are required to prepare Revaluation account, Partners’ capital a/c’s and initial
balance sheet of new firm.
OFg, D CPgROK 3 : 1 OB S° HOWIE R gRENL T0 B ODH,0 HGE 31.12.2016

00e38 0O OGSO BRD.

8,00 fovs) 0000 Ex
200EaCT2E5e0 1,800  er o 1000
09,8 55 HODES DY 1,200  ®x00en egen 2,500
DGreSes OB 2,100  eoesggyen 4000
(-) o8 500
3500
B07e0 550 DL 3000
AN 6,000  3eyeen 5,000
5 4900 & DS 1000
16,000 16,000

3 BOHB HE0 2/5 6 Do TeerREd> RSO WERELOLNTIKD. B0 DBER,eR 08550
BHeRE0.
e
) OeHORD BEOHO HXTOS? KR 100 BOH.
b) 3ty w@e $5708,E5 Heos & 4500



C) 00,8 SHOOTES O Er 150 To &880 wd.

d) X S00D eBORIS BwEo, Tl e (HYoDBE), BoLo 28 Terd Kb 350 BYoD
08 HOFP,EBL WANSO.

€) Soxg S5 HOB HIPOESBOTE EP 8000, HEDSTE GP 2000 SOL SLRPO. &5
ez D& HS & 2,400.

DBER,ENR085 T2, AT HITPOESH IPBWoD, OO @adoaf (ST ;0 éegééo

SO BAHOs.

Q17) Dinesh and Karthik were equal partners in a manufacturing business, on June
30,2015, they dissolved the firm on which date their balance sheet was as below.

Liabilities S Assets S
Creditors 28,000 Cash at Bank 2,500
(-) reserve for discounts 1000 Debtors 42,000

(-) Provision for
27000  Doubtful debts 2000

Reserve for contingencies 5000 40,000
Mrs Karthick Loan 10,000  Stock 32,000
Reserve fund 15,000
Dinesh Loan 8000
Dinesh Capital a/c 21,000
Karthik capital a/c 18,000

10,4000 10,4000

Stock, Debtors, Plant and machinery and Good will realized S 27,000; S 38,000; S
20,000 and S 5,000 respectively. Furniture did not realise any value. An amount of S

6000 was paid on account of contingent liabilities the expenses of realiasation were S
1000.

The firm had Previously made some investment in shares of a Joint stock company
and had written off this Investment on finding it useless. Investment now realised

S 1500. Prepare necessary ledger a/c’s to close the books.

B8 GTEE HOPS® DR HoOOKD SeQEeL VLD RV, 30 &S 2015 T8 a0 8y
80,0 HPE oD DO GOD.

95,00 & exgen &5
ARSI LR 1IN 28,000 23,080 &5 Besed 2,500
(-) Br,080 D, 1000 2200a¢IK0e0 4,200

27000  (-) Sosaes,s 0. 2000
B0 5008 DB, 5000 40,000
QDD 5098 oo OB, 10,000 oo 32,000

DR, DY 15,000



OBN Ho0D e, 8000
DBE) BHTOEDS oo 21,000
5008 HaROESS groese 18,000

10,4000

10,4000

DEOED, 200EBERYO0, 3RO FOOOSD cHomeeD, HE DS HooD SEDTR S 27,000 S3
38,000, 83 20,000 EoOOKD &P 5000 HIANRBH. PYHS o0 D DD HTPe SB%0.
S0808 Qﬁcﬁéé@a@_ 80® 6000 aggoase@ma). DHOPR,S B0 83 1000 VoY o8 23200085
PE E0DS Depd DESD LY D8 CRDT 5 B, B a;eaga)csoo Bo0D

DHOP,FBTe B3 15,00 émgéa).

DT BBV (BEH) OBHEBOD @0 SATPE BoHOS.

Q18) Jain Bros, had a Branch at Kolkata. Goods are Invoiced to the branch at cost plus

25% Branch is Instructed to deposit cash every day in the head office account in the
bank. All expenses are paid by the branch Manager from the following particulars,
Prepare branch account in the books of head office.

S
Stock on 1.1.2015 2,500
Stock on 31.12.2015 3000
Sundry debtors on 1.1.15 1400
Sundry debtors on 31.12.15 1800
Cash sales for the year 10,800
Credit Sales for the year 7000
Cash remitted to the head office 15,000

S
Furniture purchased by the
branch manager 1,200
Goods invoiced from
the head office 18,200
Expenses paid by the
Head office 1640
Head office sent cash
To purchase sale for the branch 13,00
Expenses paid by the branch 120

B8O G 7008 Zosay 5 eRod BotH. ePoN8 DBV POED +25% TP [IDYODD
HOVO. DB G%er, P& BHD AV, PO FPoTS B BHBES WATPYSOT® 2PODS
8dceen HORO. O PREODLR PO WIBE VDYV, 80O DHTS? & @Ho

DSOS 20D Froererd SO HBaHod.

S
00> 1.1.2015 mee38 2,500
B8 31.12.2015 o638 3000
DG axweaggen 1.1.15 1400
DD evswgges 31.12.15 1800
8 DOBHECHNS® S5 ©5,50en 10,800
8 HOBHCH0S® 9D ©5D,50e0 7000
20& D0 HODS S5O 15,000

fou )
2RoD BoIwE 2065w VD

g6 1,200
308 @8HR 500D R/&T,0MD

DOHDES DS 18,200
& 8DHH BYoDS PO 1640
D 5°506%e0 8

205 8HD DoBD BE5EH 13,00
2ROD BYODD PLRen 120
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B.Com. DEGREE EXAMINATION, MAY -2017

(Examination at the end of Second Year)
QUANTITATIVE TECHNIQUES - 11
Time : 3 Hours Maximum Marks : 70

SECTION - A
Answer any four of the following 4 x5=20)

Q1) What do you mean by decomposition of time series.
o000 DOCZRE0 BT B0 ?

02) What is cost of living index number.
BHD B0 DR HOY, @B BEO?

03) What do you mean by the joint probability?
30,8 H0gRDS BT BEO?

04) Define the derivative of a function of one variable.
D808 HOZS B8, BOBEBEE DT DOO&.

05) Write short notes on seasonal variation.
20EBIIS HTISEB B VPO TGO Q%o:boé.

06) Explain the significance of index numbers.
QD7) DOP® FpBVYPBBO PHOOSO.

Q7) What do you mean by duality in L.P.P?
L.P.P. 6% 55065580 (t632,05300¢3) e05t70 83807

08) Discuss empirical probability.
‘DoROES T H0gRHS BSHOSOs.

SECTION - B



Answer any Two of the following (2 x15=30)

09) Construct index number of prices for the following data using (i) Laspeyer’s
(ii) Paasche’s and (iii) Marshal — Edgeworth methods :
DDHBD DY SB0TLND (1) QoS (i) My Hooatn (iil) HRY,S - §HE DSOS
8 DR HOYPOD EPRF0D0TSOS.

Commodity 2015 2016

SHeo Price Quantity Price  Quantity
oo} DODIPELO (e} DOBTE0

A 50 10 56

B 100 2 120

C 60 6 60

D 10 30 12 24

E 8 40 12 36

Q10) Fit a straight line trend to the following data by the method of least square :
O BBYOFHNHED BT HOR® a’)cgéé TR 00 DEES o é)ée)g&) DOEeO50.

Year : 2009 2010 2011 2012 2013 2014 2015
DOBESHD
Sales (in lakhs) : 80 90 92 &3 94 99 92

30,5000 (Oges?)

Q11) Solve the given by simplex method.
%005, D& (20RE) DB w00 MPOIOs.

Minimize Z = 3X; + 5X,

80§sO0w0d

Subject to 3X1+2X,>50
2X1+4X,>40
XiX2>0

Q12) Find & if
dx

a) x4+’ -2x=0

b) X +5x%y+xy=5

a) x'+)y"-2x=0

b) X +5x%y+xy=5
dy

O —— 50 B0H°H506.
dx



SECTION - C
Answer two of the following (2 x10=20)

Q13) From the following data find the seasonal variations using the method of simple

averages :
DD DYS STOFB0BED PGS D5 HEBSE BNBHS HWSEPOT EHH50&.

Season Summer Monsoon Autumn Winter
o000 OO0 SR 5000 SHoSHe00 WS5OB00
2012 30 80 60 120
2013 35 105 90 170
2014 40 150 100 220
2015 60 170 130 235
2016 65 200 140 300

Q14) Find the cost of living index number using geometric mean from the following data :
DHD VYD STWOTHNVDE FHD HLOH WP DO HBIVGIEBIBDED SHABIBOD

BL06°505.
Items (59 e0) : Food Fuel Clothing Housing Misc.
Indices (xoe&en) @ 400 200 250 150 300
Weights (geomeen) : 5 3 4 1 2

Q15) Five coins whose faces are marked 2 & 3 are thrown. What is the chance of obtaining

a total of 12.
5 DoBH0e’ 2 HOoTH 3 BVPSDVeN SOAD TBIVOD DS 3?06513(53 S0go 12

BB TR OGS DOS?

016) Evaluate J‘w\/(;x_é‘) dx
_[ (x+1)(x—-4)

Jx dx o dnEsoowsosd.
x



Q17) From a pack of standard cards numbers from 1 to 20, a card is drawn at random.
What is the probability that the card drawn bears a number.
a) Which is a multiple of 4 or 7 and
b) Which is a multiple of 3 or 4
1 00D 20 HEK HOPED EOAD 28 SR DT ANBNBIOD, 28 BN BoHre, 0

D50 T3 Do DG HOEILEDTPEL DOgIRHES DO ?
a) &K 4 HHOATL 7 BWE, (DB HHDOK

b) &= 3 oAt 4 B, tHBapeoTe

018) Using the graphic method find the solution to the following L.P.P.
otHd L.P.P. & 588 H¢58 wagoe dgosod.

Minimize C= 1.5X;+2.5X,
80350050,

Subject to X;+3X,>3
X +X;>2
Xy, X2>0
*000
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B.Com. DEGREE EXAMINATION, MAY -2017

(Examination at the end of Second Year)
(Part—II)
Computer Application — I1 : Computer Based Document
Time : 3 Hours Maximum Marks : 70
SECTION - A

Answer any three questions (3 x15=45)
B8 OB TRBS® D 00 HFOBTe DHRESBVO [P0

Q1) What are the advantages of MS - Word
MS - Word 8w, H3namees H&7?

02) Write a procedure to create headers and footers.
32D HoDOID KR SATTRLD WO HFBRD TeALOBD.

03) What are the options in the Font dialogbox.
Font dialogbox &% e option ev &7

04) Write a procedure to create mail - merge?
Booond B0g SR VAo HPIBO TOHOS ?

05) Write steps to delete rows and columns and insert rows and columns.
O%) HEDVED DA Hend HEHen INSErt VoL HHOA SPOB0TNE SBORD

Step oo Feoodk ?

06) a) How can you insert charts and movies in presentation.
b)  What is slide transition.
a)  DROEHS &% werRen HHOOKD 1AL Der INSert B,

b)  slide transition esSoe 07

SECTION - B

Answer any Five questions (S x3=15)
B8 BoD 2368 DI O PFOE DBRGHB0L0 RW)508

Q7) What are the steps to create document?
GREDBo0t & create daxo step eo HD?

08) Differentiate cut — paste and copy — paste.



cut — paste Soooso copy — paste o5 HoFEQOs.

09) What is word — Art? Give an example.
word — Art e9S5roES80 ? €rresesndo Q0% ?

Q10) Write any six word shortcuts keys?
OB st B shorteut key om0 meoos.

Q11) What are the options in EDIT menu.

EDIT menu &% e option eo 97

Q12) Write steps to open presentation.
HBOSHSDSO Open WasoeEd step oo FeaHod.

Q13) What is the use of Autocontent wizard.
Autocontent wizard €S30ecaE080e3?

SECTION - C

Answer any Five questions 5x2=10)
B8 BoD o368 DI O PFOE DBEPGHB0L0 [R50

Q14) What is word processing?
word 5808 e 3807

Q15) What is clip board?
clip board esoe 07

016) What do you mean by Autocorrect?
Autocorrect 0083 egEgoe?

Q17) What is the use of Border dialogbox?
Border Rerns angy i3S, eHa3recaoaoed ?

Q18) How can you draw text box?
text box &o e BapcH?

Q19) What is the use of autolayout?
autolayout c3ws;, €5337c5a3080e3 7

020) How can you insert new slide?
£°8 {1 e Insert Sarch?

*400¢



